Nevada Division of Health Care Financing and Policy Nursing Facility Rates – April 2015

TABLE OF CONTENTS

Fee Schedule for NF Behaviorally Complex Rate	1
In State Free Standing NF Rates Schedule	2
Out of State (OOS) Nursing Facility July 1 Rates	3
July 1 Consolidation	4
JCase Mix Worksheet	5

Nevada Division of Health Care Financing and Policy In-State Nursing Facility Behaviorally Complex Rates Effective: April 1, 2015

State Plan Attachment 4.19-D Page 9, E. Special Care Rates:

Level:	Number of Hours:	Total Hours for Billing:	Rate:
Category I.	1-8	7.5	\$111.23
Category II.	9-16	15	\$222.45
Category III.	17-24	22	\$326.26

Note: The Nevada CNA median wage will be reviewed on odd numbered years on July 1 and will become effective as of July 1 of the respective year.

Facility Medicaid Rate Effective April 01, 2015

Facility Medicaid Rate Effective April 01, 2015	NF Standard	Equivalent	Quarterly	NF	Pediatric	Pediatric
In-State Nursing Facility Name	Per Diem	Daily Rate*	Supplemental Payment	Ventilator Dependent	Specialty Care I	Specialty Care II
CARE MERIDIAN	\$139.76		Tayment	\$519.90	\$711.20	\$778.40
CARSON NURSING AND REHABILITATION CENTER	\$111.56	\$183.50	\$145,313.41	\$506.72	\$0.00	\$0.00
	¢110.42	¢215 41	¢1 751 970 47	¢512.21	¢0.00	00.00
LAKE MEAD HEALTH & REHABILITATION	\$119.42	\$215.41	\$1,751,870.47	\$513.31	\$0.00	\$0.00
COLLEGE PARK REHABILITATION CENTER	\$122.79	\$203.11	\$382,511.67	\$514.29	\$0.00	\$0.00
DELMAR GARDENS OF GREEN VALLEY	\$112.90	\$199.27	\$1,098,797.72	\$515.45	\$0.00	\$0.00
EL JEN MEDICAL HOSPITAL	\$111.14	\$201.14	\$813,819.44	\$510.23	\$0.00	\$0.00
GARDNERVILLE HEALTH AND REHABILITATION	\$117.73	\$206.93	\$174,117.26	\$520.56	\$0.00	\$0.00
GAYE HAVEN INTERMEDIATE CARE FACILITY	\$100.80	\$221.42	\$169,340.28	\$506.69	\$0.00	\$0.00
HEARTHSTONE OF NORTHERN NEVADA	\$117.64	\$202.35	\$432,317.75	\$512.87	\$0.00	\$0.00
HIGHLAND MANOR ELKO	\$114.68	\$189.15	\$373,535.85	\$518.08	\$0.00	\$0.00
HIGHLAND MANOR FALLON	\$116.37	\$193.88	\$377,874.36	\$519.83	\$0.00	\$0.00
HIGHLAND MANOR MESQUITE	\$107.02	\$184.44	\$250,934.81	\$517.20	\$0.00	\$0.00
HORIZON HEALTH & REHABILITATION (DESERT LANE)	\$110.39	\$196.67	\$448,008.43	\$508.76	\$0.00	\$0.00
LAS VEGAS POST ACURE & REHABILITATION	\$113.49	\$198.72	\$299,721.30	\$508.01	\$635.00	\$695.00
TORREY PINES REHABILITATION HOSPITAL	\$118.98	\$197.52	\$322,080.92	\$514.37	\$0.00	\$0.00
LIFE CARE CENTER OF LAS VEGAS	\$115.95	\$204.24	\$925,893.93	\$515.45	\$0.00	\$0.00
LIFE CARE CENTER OF PARADISE VALLEY	\$122.01	\$193.64	\$117,407.76	\$516.77	\$0.00	\$0.00
LIFE CARE CENTER OF RENO	\$125.32	\$193.60	\$192,190.00	\$514.80	\$0.00	\$0.00
MANOR CARE HEALTH SERVICE WINGFIELD HILLS	\$116.75	\$190.58	\$265,173.65	\$522.02	\$0.00	\$0.00
MANOR CARE HEALTH SERVICES (RENO)	\$109.27	\$180.27	\$426,805.88	\$513.70	\$0.00	\$0.00
MARQUIS CARE AT CENTENNIAL HILLS	\$126.20	\$213.28	\$576,080.16	\$522.54	\$0.00	\$0.00
MARQUIS CARE PLAZA REGENCY	\$125.32	\$209.93	\$876,160.15	\$517.70	\$0.00	\$0.00
MISSION PINES NURSING & REHAB CENTER	\$114.43	\$219.74	\$1,367,723.63	\$514.19	\$0.00	\$0.00
MOUNTAIN VIEW CARE CENTER AT BOULDER CITY	\$112.51	\$207.39	\$584,999.02	\$507.60	\$0.00	\$0.00
MOUNTAIN VIEW CARSON CITY	\$110.51	\$201.02	\$1,007,046.29	\$509.78	\$0.00	\$0.00
NORTH LAS VEGAS CARE CENTER	\$115.30	\$206.01	\$1,201,616.24	\$510.21	\$0.00	\$0.00
ORMSBY POST ACUTE & REHABILITATION	\$116.86	\$195.54	\$449,195.04	\$517.70	\$0.00	\$0.00
PAHRUMP HEALTH & REHABILITATION	\$114.33	\$202.84	\$401,225.94	\$517.70	\$0.00	\$0.00
REGENT CARE CENTER OF RENO	\$118.28	\$200.60	\$559,101.33	\$520.19	\$0.00	\$0.00
RENOWN SKILLED NURSING	\$115.81	\$205.35	\$352,227.17	\$507.98	\$0.00	\$0.00
ROSEWOOD REHABILITATION CENTER	\$118.16	\$200.87	\$245,493.94	\$508.15	\$0.00	\$0.00
ROYAL SPRINGS HEALTH CARE & REHABILITATION	\$119.03	\$209.21	\$1,338,471.61	\$517.26	\$0.00	\$0.00
SILVER HILLS HEALTH CARE CENTER	\$116.59	\$192.89	\$323,798.98	\$516.71	\$0.00	\$0.00
SILVER RIDGE HEALTH CARE CENTER	\$128.75	\$215.65	\$544,274.23	\$517.70	\$0.00	\$0.00
SOUTHERN NEVADA MEDICAL & REHAB (VEGAS VALLEY)	\$121.72	\$205.32	\$81,012.04	\$511.11	\$0.00	\$0.00
ST. JOSEPH TRANSITIONAL REHABILITATION	\$121.97	\$211.86	\$522,866.38	\$507.78	\$0.00	\$0.00
THE HEIGHTS OF SUMMERLIN	\$114.32	\$188.13	\$615,156.80	\$519.90	\$0.00	\$0.00
TLC CARE CENTER	\$117.67	\$197.10	\$747,495.71	\$518.15	\$635.00	\$695.00
WHITE PINE CARE CENTER	\$112.28	\$195.96	\$231,718.77	\$507.60	\$0.00	\$0.00

*This column shows what a facility would receive as a daily rate if the supplemental payments were paid as part of the per diem rather than as monthly lump sum payments.

Nevada Division of Health Care Financing and Policy Out-Of-State Nursing Facility Base Rates Effective April 1, 2015

OOS Nursing Facility	Home State	Facility Base Rate	Vent	Ped 1	Ped 2	BEGIN
HACIENDA SKILLED NURSING	Arizona	N/A	\$0.00	\$450.00	\$550.00	04/01/2015
BISHOP CARE CENTER	California	\$213.00	\$0.00	\$0.00	\$0.00	04/01/2015
CHAROLAIS (MINI-CASSIA IN BURLEY)	Idaho	\$350.00	\$0.00	\$0.00	\$0.00	04/01/2015
DESERT VIEW (SNAKE RIVER)	Idaho	\$350.00	\$0.00	\$0.00	\$0.00	04/01/2015
OAK CREEK (MTN VIEW CARE CENTER)	Idaho	\$350.00	\$0.00	\$0.00	\$0.00	04/01/2015
SAFE HAVEN (BEACON REHAB)	Idaho	\$350.00	\$0.00	\$0.00	\$0.00	04/01/2015
TWIN FALLS CARE CENTER	Idaho	\$185.00	\$0.00	\$0.00	\$0.00	04/01/2015
CEDAR HILL HEALTH CARE CENTER	Massachusett	\$208.00	\$0.00	\$0.00	\$0.00	04/01/2015
AVALON VALLEY REHABILITATION CENTER	Utah	\$186.00	\$0.00	\$0.00	\$0.00	04/01/2015
DESERET CARE CENTER	Utah	\$175.00	\$0.00	\$0.00	\$0.00	04/01/2015
DESERET HEALTH AND REHAB AT FEDERAL HEIGHTS	Utah	\$172.00	\$0.00	\$0.00	\$0.00	04/01/2015
HERITAGE HILLS HEALTH CARE CENTER	Utah	\$192.00	\$0.00	\$0.00	\$0.00	04/01/2015
HERITAGE PARK CARE CENTER	Utah	\$169.00	\$0.00	\$0.00	\$0.00	04/01/2015
KOLOB REGIONAL CARE (CC NURSING HOME)	Utah	\$185.00	\$0.00	\$0.00	\$0.00	04/01/2015
MIDTOWN MANOR	Utah	\$186.00	\$0.00	\$0.00	\$0.00	04/01/2015
MILLCREEK HEALTH CENTER (NMP)	Utah	\$140.00	\$0.00	\$0.00	\$0.00	04/01/2015
MT. OLYMPUS REHABILITTION CENTER	Utah	\$189.00	\$0.00	\$0.00	\$0.00	04/01/2015
PARAMOUNT HEALTH AND REHAB (CARDIFF)	Utah	\$169.00	\$0.00	\$0.00	\$0.00	04/01/2015
ROCKY MOUNTAIN CARE CLEARFIELD	Utah	\$180.00	\$516.00	\$0.00	\$0.00	04/01/2015
ROCKY MOUNTAIN CARE COTTAGE ON VINE	Utah	\$168.00	\$518.00	\$0.00	\$0.00	04/01/2015
ROCKY MOUNTAIN CARE HUNTER HOLLOW	Utah	\$183.00	\$519.00	\$0.00	\$0.00	04/01/2015
SOUTH DAVIS COMMUNITY HOSPITAL	Utah	\$205.00	\$520.00	\$0.00	\$0.00	04/01/2015
PROVO REHAB (ROCK CANYON)	Utah	\$185.00	\$519.00	\$0.00	\$0.00	04/01/2015
RED CLIFFS HEALTH & REHABILITATION	Utah	\$184.00	\$516.00	\$0.00	\$0.00	04/01/2015
ST. GEORGE CARE CENTER (KINDRED NURSING CNTR	Utah	\$165.00	\$0.00	\$0.00	\$0.00	04/01/2015

Note: This schedule reflects each facilities prior quarter home state Medidaid rate. A differentional "add-on" rate may be approved for some Nevada Mediciaid recipients

Nevada Medicaid Calculation of Total Case Mix and Budget Neutral Adjusted Projected Payments For FY 2012

Provider Name	Oct - Dec 2014 Actual Medicaid Days	FRV Per Diem	Operating Statewide Price	Facility Specific Direct Health Care Price	Total Case Mix Adjusted Rate	Total Case Mix Adjusted Projected Payments	Budget Adjustment Factor	Facility Medicaid Rate Effective January 1, 2015	Total Case Mix and Budget Neutral Adjusted Projected Payments	Facility Specific Direct Health Care Floor
	а	b	с	d	e = b+c+d	f = e*a	g	h = e*g	i = h*a	j
LIFE CARE CENTER OF PARADISE VALLEY	1.639	\$21.77	\$ 124.56	\$92.94	\$239.27	\$ 392,163.53	0.509927794	\$122.01	\$ 199,975.08	79.42
MISSION PINES NURSING & REHAB	12,987		\$ 124.56	\$80.65	\$224.40		0.509927794	\$114.43		68.92
SILVER RIDGE HEALTH CARE CENTER	6,263		\$ 124.56	\$105.22	\$252.48		0.509927794	\$128.75		89.91
CLEARVIEW HEALTH AND REHABILITATION (fka Henderson He		\$18.31	\$ 124.56	\$91.32	\$234.19		0.509927794	\$119.42		78.04
COLLEGE PARK REHABILITATION CENTER	4,762		\$ 124.56	\$96.94	\$240.79		0.509927794	\$122.79		82.84
HIGHLAND MANOR MESQUITE	3,241		\$ 124.56	\$63.11	\$209.87		0.509927794	\$107.02		53.93
TLC CARE CENTER	9,410	\$23.15	\$ 124.56	\$83.04	\$230.75		0.509927794	\$117.67	\$ 1,107,235.54	70.96
ROYAL SPRINGS HEALTHCARE AND REHAB INC.	14.843	\$22.26	• • • •	\$86.61	\$233.43		0.509927794	\$119.03		74.01
NORTH LAS VEGAS CARE CENTER	13,247		\$ 124.56	\$86.35	\$226.12		0.509927794	\$115.30		73.79
MOUNTAIN VIEW CARE CENTER AT BOULDER CITY	6,166		\$ 124.56	\$83.48	\$220.64		0.509927794	\$112.51		71.34
SILVER HILLS HEALTH CARE CENTER	4,244		\$ 124.56	\$82.37	\$228.64		0.509927794	\$116.59		70.39
ST JOSEPH HEALTH CARE CENTER	5.817	\$12.78	\$ 124.56	\$101.85	\$239.19	\$ 1,391,368.23	0.509927794	\$121.97	\$ 709,497.33	87.04
MARQUIS CARE PLAZA REGENCY	10,356		\$ 124.56	\$98.51	\$245.77		0.509927794	\$125.32		84.18
DELMAR GARDENS OF GREEN VALLEY	12,721		\$ 124.56	\$76.39	\$221.40		0.509927794	\$112.90	\$ 1,436,175.63	65.28
GAYE HAVEN	1,404		\$ 124.56	\$61.43	\$197.68		0.509927794			52.50
LIFE CARE CENTER OF LAS VEGAS	10,487	\$20.45		\$82.37	\$227.38		0.509927794	\$115.95		70.39
TORREY PINES CARE CENTER	4,101		\$ 124.56	\$89.40	\$233.33		0.509927794	\$118.98	\$ 487,942.94	76.40
HORIZON HEALTH & REHABILITATION (Desert Lane Care Center			\$ 124.56	\$78.17	\$216.49		0.509927794	\$110.39		66.80
EL JEN MEDICAL HOSPITAL	9,043		\$ 124.56	\$78.17	\$217.96		0.509927794	\$111.14		66.80
LAS VEGAS HEALTHCARE & REHAB CENTER	3,517	\$13.01	\$ 124.56	\$85.00	\$222.57		0.509927794	\$113.49	\$ 399,160.61	72.63
SOUTHERN NEVADA MEDICAL & REHAB (fka VEGAS VALLEY	969		\$ 124.56	\$98.03	\$238.70		0.509927794	\$121.72		83.77
HARMON MEDICAL AND REHABILITATION HOSPITAL ¹	-	\$27.45	\$ 124.56	\$87.31	\$239.32	\$ -	0.509927794	\$122.04	\$ -	74.61
HIGHLAND MANOR ELKO	5,016	\$23.08	\$ 124.56	\$77.25	\$224.89	\$ 1,128,048.24	0.509927794	\$114.68	\$ 575,223.15	66.02
PAHRUMP HEALTH AND REHABILITATION CENTER	4,533	\$22.70	\$ 124.56	\$76.95	\$224.21	\$ 1,016,343.93	0.509927794	\$114.33	\$ 518,262.02	65.75
ORMSBY POST ACUTE REHABILITATION	5,709	\$22.70	\$ 124.56	\$81.91	\$229.17	\$ 1,308,331.53	0.509927794	\$116.86	\$ 667,154.61	70.00
MOUNTAIN VIEW HEALTH AND REHABILITATION	11,126	\$14.78	\$ 124.56	\$77.38	\$216.72	\$ 2,411,226.72	0.509927794	\$110.51	\$ 1,229,551.52	66.12
CARSON NURSING AND REHABILITATION CENTER	2,020	\$11.72	\$ 124.56	\$82.50	\$218.78	\$ 441,935.60	0.509927794	\$111.56	\$ 225,355.25	70.50
HEARTHSTONE OF NORTHERN NEVADA	5,103	\$17.87	\$ 124.56	\$88.26	\$230.69	\$ 1,177,211.07	0.509927794	\$117.64	\$ 600,292.64	75.42
LIFE CARE CENTER OF RENO	2,815	\$19.80	\$ 124.56	\$101.41	\$245.77	\$ 691,842.55	0.509927794	\$125.32	\$ 352,789.75	86.66
REGENT CARE CENTER OF RENO	6,792	\$25.19	\$ 124.56	\$82.21	\$231.96	\$ 1,575,472.32	0.509927794	\$118.28	\$ 803,377.12	70.25
LKM - ROSEWOOD REHABILITATION	2,968	\$13.15	\$ 124.56	\$94.00	\$231.71	\$ 687,715.28	0.509927794	\$118.16	\$ 350,685.14	80.33
RENOWN SKILLED NURSING	3,934	\$12.98	\$ 124.56	\$89.58	\$227.12	\$ 893,490.08	0.509927794	\$115.81	\$ 455,615.43	76.55
MANOR CARE HEALTH SERVICES (Reno)	6,011	\$18.70	\$ 124.56	\$71.02	\$214.28	\$ 1,288,037.08	0.509927794	\$109.27	\$ 656,805.91	60.69
WHITE PINE CARE CENTER	2,769	\$12.60	\$ 124.56	\$83.02	\$220.18	\$ 609,678.42	0.509927794	\$112.28	\$ 310,891.97	70.94
GARDNERVILLE HEALTH AND REHABILITATION CENTER	1,952	\$25.56	\$ 124.56	\$80.76	\$230.88	\$ 450,677.76	0.509927794	\$117.73	\$ 229,813.12	69.01
HIGHLAND MANOR OF FALLON	4,875	\$24.83	\$ 124.56	\$78.81	\$228.20	\$ 1,112,475.00	0.509927794	\$116.37	\$ 567,281.92	67.35
THE HEIGHTS OF SUMMERLIN	8,334	\$24.90	\$ 124.56	\$74.73	\$224.19	\$ 1,868,399.46	0.509927794	\$114.32	\$ 952,748.81	63.86
CARE MERIDIAN	-	\$24.90	\$ 124.56	\$124.62	\$274.08		0.509927794	\$139.76		106.49
MANOR CARE HEALTH SERVICES - WINGFIELD HILLS	3,592	\$27.02	\$ 124.56	\$77.38	\$228.96	\$ 822,424.32	0.509927794	\$116.75	\$ 419,377.02	66.12
MARQUIS CARE AT CENTENNIAL HILLS	6,616		\$ 124.56	\$95.39	\$247.49		0.509927794	\$126.20	\$ 834,952.63	81.51
Las Ventanas ²	0				\$229.74			\$117.15		
Las Vegas Flamino ³	0									
Total	0 242,825					\$ 55,552,894			\$ 28,327,965	
Medicaid Day Weighted Rate	272,020					\$ 35,352,694 \$ 228.78			\$ 20,527,505 \$ 116.66	
, ,	Od offective 10/1	44)							φ 110.00	
Weighted Average Budget Neutral Per Diem (State Plan 4.19D p.1	ua, effective 10/1/	11)				\$ 116.66				
Budget Adjustment Factor						0.509927794				

¹Harmon Medical and Rehabilitation is not an active Medicaid provider.

²Las Ventanas does not take Medicaid patients per HCFP. Therefore no projected days were provided to M&S.

³Las Vegas Flamingo is not an enrolled Medicaid provider. Therefore no projected days were provided to M&S.

Count of Days is Medicaid Patient Days + Medicaid Hospice Patient Days, per discussion with HCFP June 2012.

Point in Time - 01/01/2015

	Provider		sidents	Medicaid R		Medicare Residents		Other Residents	
Prov. #	Name	Count	CMI	Count	СМІ	Count	СМІ	Count	CMI
001902011	Life Care Center of Paradise Valley	69	1.4536	20	1.2135	33	1.6191	16	1.4125
	Mission Pines Care Center	140	1.0531	140	1.0531	0	0.0000	0	0.0000
	Silver Ridge Healthcare Center Clearview Health and Rehabilitation (fka Henderson	112	1.4698	76	1.3738	18	1.7556	18	1.5894
001902200	Healthcare Center)	219	1.2121	177	1.1924	19	1.3616	23	1.2400
001902230	College Park Rehabilitation Center	86	1.3483	58	1.2657	13	1.4200	15	1.6053
001902250	Highland Manor - Mesquite	64	0.8880	35	0.8240	4	1.2275	25	0.9232
	TLC Care Center Royal Springs Health Care & Rehab (fka Manor Health	149	1.1789	106	1.0842	15	1.4233	28	1.4064
	Care Center)	191	1.1723	153	1.1308	10	1.6000	28	1.2464
001902340	North Las Vegas Care Center	173	1.1554	159	1.1275	8	1.6087	6	1.2883
001902431	Mountain View Care Center at BC	72	1.1524	59	1.0900	6	1.5250	7	1.3586
		119	1.2780	49	1.0755	31	1.5306	39	1.3315
	St Joseph Health Care Center	81	1.3504	68	1.3299	8	1.7000	5	1.0700
001902602	The Plaza Regency at Sun Mountain	150	1.3251	124	1.2862	10	1.6030	16	1.4531
001902623	Delmar Gardens of Green Valley, Inc.	169	1.0237	144	0.9974	16	1.3056	9	0.9433
001902778	Gaye Haven ICF	19	0.8021	19	0.8021	0	0.0000	0	0.0000
001902780	Life Care Center of Las Vegas	145	1.1482	111	1.0755	25	1.3804	9	1.4000
001902784	Torrey Pines Care Center Horizon Health & Rehabilitation (fka Desert Lane Care	83	1.2153	48	1.1673	26	1.3054	9	1.2111
001902838	Center)	65	1.0683	56	1.0207	2	1.3100	7	1.3800
001902849	El Jen Medical Hospital	115	1.0283	101	1.0206	3	1.5333	11	0.9609
	Las Vegas Healthcare and Rehabilitation Center Southern Nevada Medical & Rehab (fka Vegas Valley	62	1.1813	47	1.1098	12	1.4658	3	1.1633
001902876	Rehabilitation Hospital)	51	1.5020	12	1.2800	9	1.6367	30	1.5503
001902900	Harmon Medical And Rehabilitation Hospital	0	0.0000	0	0.0000	0	0.0000	0	0.0000
001904100	Highland Manor of Elko	90	1.0574	64	1.0087	10	1.3720	16	1.0556
001912881	Evergreen @ Pahrump Health & Rehabilitation Center	58	1.0691	49	1.0047	5	1.4900	4	1.3325
001913305	Evergreen at Carson City	96	1.1365	63	1.0695	31	1.2994	2	0.7200
001913700	Evergreen Mountainview Carson City	124	1.0013	101	1.0103	6	1.2133	17	0.8729
001913842	Carson Nursing and Rehabilitation Center	48	1.1983	29	1.0772	10	1.4570	9	1.3011

001916850	Hearthstone of Northern Nevada	97	1.2772	63	1.1524	16	1.4712	18	1.5417
001916860	Life Care Center of Reno	114	1.4483	17	1.3241	61	1.4716	36	1.4675
001916865	Regent Care Center of Reno	130	1.0758	76	1.0734	15	1.2920	39	0.9972
001916870	LKM - Rosewood Rehabilitation	64	1.2809	35	1.2274	20	1.3795	9	1.2700
001916900	Renown Skilled Nursing	65	1.2451	38	1.1697	7	1.5543	20	1.2800
001916915	Manor Care Health Services of Reno	127	1.1220	66	0.9273	33	1.3773	28	1.2800
001917920	White Pine Care Center	41	1.1529	30	1.0840	3	1.6267	8	1.2338
100503498	Evergreen Gardnerville Health and Rehab	34	1.1924	20	1.0545	10	1.5130	4	1.0800
100506408	Highland Manor of Fallon	73	1.0777	50	1.0290	9	1.3444	14	1.0800
100506410	The Heights of Summerlin	138	1.1362	82	0.9757	14	1.4221	42	1.3540
100510503	Caremeridian	17	1.6659	14	1.6271	3	1.8467	0	0.0000
100519895	Manor Care Health Services - Wingfield Hills	88	1.2353	37	1.0103	25	1.4724	26	1.3277
100521441	Marquis Care at Centennial Hills	103	1.2723	80	1.2455	12	1.5233	11	1.1936